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1 9:00 LW B A A B Bay FCB
2 9:20 SC Lw SC FC C L SC
3 9:40 SC FCA SC A SC SC FC Bay
4] 10:00 A B B FCA Bay FCB B SC
5| 10:20 LW SC A L SC C FCB
6] 10:40 SC A Lw FCA FC Bay L SC
7] 11.00 B FCA SC A B SC FC FCB
8] 11:20 A B SC C FCB B SC
9] 1140 LW FCA A L SC C Bay
10| 12:00 SC A Lw B FC FCB L B
11| 12:20 B SC sC B SC FC C
12| 12:40 A SC FCA C Bay SC SC
13| 13:10 2 1 3 2 3
NO
1 9:00 A MFCA FC AB
2 9:20 MFCB B A B
3 9:40 F FC A MFCA B
4] 10:00] FC B B MFCA B
5| 10:20 A F FC AB
6] 10:40 MFCB FC B FCA B
7] 11.00 MFCA FC A FCA B
8] 11:20 B B FC AB
9] 1140 A FC A MFCA B
10| 12:00 MFCB B FCA B
11| 12:20 MFCA F A B
12| 12:40 B FC B A B
13| 13:10 2
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1 9:00 FC SC S5S SCC SC FCA FCB FCB
2 9:20] FC A SCB FC SCA SC SC SC B
3 9:40 SCA FCA A S5S B SCP SC FCB
4] 10:00 SSS FCC FCA FCB FC FCA SCP
5| 10:20 FC SCA SCB SCC SC FC B SC FC
6] 10:40| FC A SSS FC FCA SC FCB SC SCP
7] 11.00 SC FCA A SCC FCA SCP SC FC
8] 11:20 SCB FCC SCA SC FC FCA B
9] 1140 FC FCA SCB S5S SC SCP SC FCB
10| 12:00] FC A FCC FC SC FC SC FCA
11| 12:20 SC SCA A SCB FCA FC B SC SC
12| 12:40 SCB SSS SCA FCA SC FCB B SCP
13| 13:10 2
NO
1{ 1015 SCB FC
2| 10:35 FCB MFC
3] 10:55 FC FCA MFCA
4] 1115 SCA LK
5| 11:35 FC SC FC
6] 1155 FCB SCA
7] 12:15 SCB FCA MFCA FC
8] 12:35 LK MFC
9] 1255 FCA SC
10| 13:15 FCB LK
11 13:35 SCB FC MFCA SC
12| 1355 SCA MFC
13| 14:20 2




